ENBAROBEHERT —5N—2BIST—F 2025675208 (B) 1EEEE128
H¥vsx25 55 (R UET 58 ERE s

[®&%] 17 : 7,500,000 . 27& : 3,000,000  37%& : 1,900,000 .~ 45 : 1,100,000  57& : 750,000
B HERS I %1 %2 17ERT 27E/ 3xEH
/FIRS5—S s 5.0 i
R] RL T USA) 0-0-0-0 SRy
111 @ /529598 0-0-0-0 BT myyT
821 174080k 0-0-0-0
7—UL7LA 2 80 @%Eﬂ
K] N\—EVJv—(GB) 0-0-0-0 TA—IRU—Y VT
2| 18] 2524V Lalls) ) #BI—AL—vay
8] 9—2075—2 (6B) el BEI7—L
20BFE LT b—IUHRE 2310.058
\— T 2 BB AREHEL
Py AN
3 EIRC e 0-0-0-0 P S
B8R N—vo54 0-0-00 e
JIWTL— e v @%)IEE
R TAYYISvva 0-00-0 Sy -
il 4| (8] 3u57055F 0-0-0-0 AR
BR] AUN\IvFILE 0-0-0-0
20245 EEY Y —t—)L 1% 605.005M
TP ATAN=Z B i
5| 5| & UAYF—2 0-0-0-0 P
8] hOAAYI—Y 0-0-0-0 —EBT77—L
BR] AR v— 0-0-0-0
0#4FEEEL I Y a Y- 15 2750.050 -
~ o= = 3Z%
¥aes-— et (.0 s
K] BYF—=2/—(IRE) 0-0-0-0 e
W 6| (=] FOVTES 0-0-0:0 FPLANIST
BR] ARU—K Y2 (USA) R
064FEHmEEL I Y3V E—Ib 1% 1100.058
v—Jdv kU R o RIS
R] SRFI4TFRP Ly I Z(USA) 0-0-0-0 SRR
717 (8] ZRILNAYR 0-0-0-0 B9 7 —1s
8] I—-RFU1—L 0-0-0-0 =
204FEEEL I Y3 YE—Ib 15 1980.050 -
I e
glg| &l TET7 A7 0-0-0-0° TNU—3 Y5
8] ALYT=T Rl 0-0-0-0 HBT7—1
821 71 =P80 0-0-0-0
2047 hz—)U 1/ 34100.050
TU—rd— i @gﬁ—
89 R] N\—EVTv—(GB) 0-00-0 T
8] YyrIR—ILT4X 0-0-0-0 J—5Y T =1
BR] FUTHXNXN 0-0-0-0
20BFE LT bz—IUHEEE 6600.05H

1 [BE/ERB] [HF (F8) | NBERE (P-i-8) | [RE—REH x2- [BRE] Rl [BE] [£E%S]



ERRRROBERERT —I N—RBISH—F

@ XIHFE

20256672208 (B) 1[O&EE12H

HER

L—2®

—_

JFIES—Y

7—=ULT7UR

IN=IvUT+4

VILFL—Y

7 A7 AR—R

YaEs—

I<—dw kX

NLT Y

W I N oUW DN

gJU—vd—

@ {591 L

EJEEZ1800M

3=1800M

ZDfth

JFrts5—%5

7—UL7UR

IN=IvIUT«

VILTL—Y

F7AFAR=R

JaEs—

v—dv X

NLY Y

O O I N U B WIN|—

JU—rd—

. H%-Bll\‘

&=/ RIEIA L

L—2% BEIAL
B 8 1:44.8

Bif1 58

RIES A L
1:48.1

1:48.1

1:46.8

1:51.1

1:51.1

1:47.7

1:51.6

1:51.6

m =
oW | w




